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5. Find the next 5 termsifa; = 6,d=-4

6. Inan arithmetic sequence, the first term is —?1 and the : 3

Common difference is —2. What is the 8" term?
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7. Find a,q of the sequence 182,176,170 ... 8. The 12' term of an arithmeti ce is 3 '

Common difference is 3. Find the first term.. .
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an ‘arlthmetuc sequence, a;3 = 2 and az; = 4. 12. Inan arithmetic sequence, a;¢ = 40 and ay, -
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' 13 Find the common difference if the first term 14. The 3rd term of an anthmetlc sequence is 2 and th’e ﬁ&f

yrithmetic sequence is 2 and the 11" term is 9.5. term is 47. Find the common difference.
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